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1) “STZTE’ ISR WL

AT 2 'SR ' IS0 WY . B - fG0P | (TG et (Gt 1) , PTeNpogel (AsTe )
AR "AITAT ST ASTRDI WY ATGRTG T

2) The meaning of the word 'Obese’ is-
v 1) Very fat
2) Ugly
3) Tardy
4) Obnoxious

I : Obese - extremely fat in a way that is dangerous for health.

3) ¥ JdId GPIAIL?

v 1) RSifEe

2) s
3) ReIg
4) RSTreT

N : RSP - Koy o] SIS 777, SUeed, BN ©F, Ao |

4) STRRP' I 1% Reoen @PTain?

I 2 “STID” TR AR [ROoH 051 + TP | @, P, 3, \3 PR 2R} 9, P BT IAFCH T AR AR
\3, \3 BT TYFCH TR \3 TR | 05T + AP = 5P, (d + AP = AR 30T |



TN 2 ST XA WY FREF AT | AT XTHI WY FREFA, L, FR513, etq, QI «1m
AFRIFAT | IR O IO WLTIEIF AFNEP AT QB0 AW ~1RS 297K Afer s
ST A0 | IR SRR @ 5P AR 94 2 1 T (O1K 2 TN O QB0 | AR o
SO (AP LR AT | THF : (TR \3 FeTd = RITOPeTd, A0 AR K = ore (T1pe) |

6) SERISTGT X103 Y 572

AT 2 BERTSTOT - BFIAT I |

7) RieR #RIGd PO 2PR?

AT = KiAR RS Foq <P | TS KATSTH, RTACeTTor \3 KR oNTa |

8) VY XA SHTYP X7 0 -
1) S¥aRfq

v 2) 5Wiq
3)5{2@
4) 5T

AT 2 SIS, A - ROy o] 121, IH, I387 (Rira 5w, 51, 21efs, &, e, RS

SRR |

9) 518, Bfd, #nfa e Fi ams Ko 2

v 1) ITADD



2) AR
3) AMGATHP
4) RSP

YT : IR KON - (T RO 207 ST (@IAT I8 @RI AR TR FAT fqoe 1 I 1,
& A1 f0HT 31 T/, TP I7A6F ROT 67| @84« *ffd, o 3omm |

10) >R G RIS <=7 @110 ?

v 1) s
) TG
)
)

N

3) Ald
4) IS

T = <RI AT A0 AR | Q7 RIS <=7 = s |

AN : 213 KRz 0fb | TS >, ARG/ (1) . 2/ b7 (?) . APy 52 (1)

12) AT XK 5] @1 Bor551?

AN : AT G2, GG 2 b 1 QS 2 - T, T, T, WS, W, T, R, WG, &, 3,
s, 4, [, 1, I, =1, 3, 37, 21 2> B 1D 1k Sorstst . (snfs, are, o, AT, 51, 2, O,
3, F, B, W, IW, TG, WM, WX, &, 35, @, 37, [, ) weacd mam B . o (33)@)(3)
(@) () ([ | 93 TR (D) TG ST T (SR)(T) | WA (SA)PTR (F)FAT 93R (MG
BT BIRICEAIE RPANR3 ST A 1| (O Sy SRR () TR (B)21eP D (2115) @] \3
(TR ATITATH | ()G SRS T ()BT DA QST A1 1 3R (T (31) |

13) @& I1A1E 1AD?

1) T
2) Ty



v 3) T
4) T

AT : 5 G TG 3 - 703 T - WRA O[30 WY 579 A0 F 2ARARGS T AORIG *0 'F

| @Fd - F

14)@ﬂaﬁaﬁmmamq?

v 1

N

3) =I-(AIT

) o
) %
)
) B

N

AN : [, 2R 2GR0 2010 TR T FC AGTIANGSG ROTT 2 TS L, BIP A1 ST
I | QTHA - 5T (FP) A WA = MK, 2 (2PT) (T I6d = 204, A (FoM@) A TqT =
ARG, TGO (SPBICD) (T BI = TGO, & (AP ) ©TO (WAPO) = ASTO, 2 (AP ACA)
SIS = 21515 BOIMH, 2P = 2P0 P T, AATH = ORI T AT |

15) STEEM ¥ 5% [KCoH @1ain?

v 1)

2) (T3
3) ST+QgT
4) STq+Q3T

QIERR)|

I 2 7STREN” A A& [R5+ Q11 Q, P, \3, \3 IR 9K Q P BT JATFCE 0 TR
A3 \3 \9 BI(q TAT@CH O} \3 TR | @A+ (511 + QT = STIIM, 5 + D = ST |

16) T (O TTF & @S d1 T O QP 5T Q-

AT = SO 1 TR AT« (T I1CPY QBT YT LSBT \3 BIP WRN T RIS I QDTGP
YRS AT, BIP Qo T o 155 A |

17) STu3d F05aid -



4) TS

AT = O, - (5)[RCTgT o] qeed | () [ROTY 2] 5631, T, 57 3T oI5, SR

18) GPTA 7ID I 97 T\3 T 27?

v 1
2

w

)3
)B‘és
EAY
)

9,4

N

AT = AT AT 27 T3 § 2|

19) QA *(HH AP \3 2GR GPIAL?

1) @& + a7
2) T + (T
3) @fy + «y
4) T + T

v

AT : AW + T = @AM, R + P = [e1ladd. T + [P = Fgma. 351 + [T = 51K,
AT + T = 7. 4 + NeT = A1, 5K + P = RSP, TS + e = AP, @3 +
T = (215, TFHIE + P = TPAF. (T (9T). ST + el = SIS, T + (T = W,
RO + (T = (IACET ... BT - T \3 . vV + T = (R A - B T : VP + O = PI01 ~ F91 3/
5 - QA . V5T + O = G, VAl + T = @0

20) ¢ ROTT @14 @72

AT ' RO0OT FHRAIRAR @I RN TR W] | BId TAATH "STOPTR" | CRT FSod]

WA [RAT6 B " 33 0 @S GO iR 2 a1 | e ReeT Iga1izal TR gorad] Wik

AT 5791 A 513 FOfA FREK TREE QI THR WoGDT O G&(Zd | O BT TR\ ICIDT0
573 - BT61 PIRA!, 160d, WIS, *[As |

21) Rajshahi is ----- sugar growing areas in Bangladesh.

1) One of the larger
2) One of the largest
v 3) One of the largest



4) largest

A : One of the largest indicates Superlative Degree & represents a singular
verb.

22) | hardly go out after dusk' The correct bangla translation is:

1) T STATIR 1 IO\ IR TR Al

v 2) T SR S PHIDE I3 T3

3) .
4)@%Wﬁmﬁm32@@@

AT : | hardly go out after dusk.
= WY ST 1K PRI AR T3
QAT hardly JICd "FHIHS, 1 FE3 A" |

23) Pass away' means

1) disappear
v 2) die

3) erase

4) to cross

M : to cease to exist or be known; pass away; end gradually: One by one
the symptoms disappeared.

24) The feminine form of the word 'authors' is

1) authorss
v 2) Authoress

3) Authores

4) Authors

4 : The feminine form of the word "authors" is "authoresses." However,
this term is not commonly used anymore, and the more commonly accepted
and neutral term is simply "authors" for both males and females.

25) Which one of the following words is not plural?

1) Men

2) Feet

3) Lice
v 4) News



4T : news (noun) newly received or noteworthy information, especially
about recent events. "lI've got some good news for you" a broadcast or
published report of news. plural noun: the news "he was back in the news
again" Similar: report announcement story account (news) item article

26) she was blessed ---- a son

AT : She was blessed with a son. [ "Blessed with" is a common phrase used
to express gratitude or admiration for a particular quality, talent, or
advantage that someone possesses. It means that the person has been
fortunate or favored in some way, often beyond their control, and that they
are grateful for the blessings or benefits they have received. For example,
someone might say "l feel blessed with a supportive family" or "She is
blessed with natural athletic ability." It can also be used to describe the
feeling of being fortunate or lucky in general.]

27) what is the noun of 'Accept'?

1
v 2
3
4

acceptably
acceptance
accepted

acceptable

N— N N N

AT : Accept <=iib verb IR noun from - acceptance. Accepting *=iib present
participle, acceptable - adjectivel

28) The synonym of ‘Crime’ is

1) Mistake
2) Thief

v 3) Offence
4) Trial

AT - Offense, Wrongdoing, Misdeed, Transgression, Felony, Misdemeanor,
Violation, Infraction, Atrocity, Sin



29) English --- across the world.

1) has spoken
2) speaks

3) is speaking
v 4) is spoken

4 : This sentence is followed by the structure: Passive Voice: Subject + Be
Verb + V3

30) Choose the word with correct spelling:

1
2
v 3
4

ricive

receve
receive
receive

~— N N S

M : receive-aR9[ The verb "receive" means to be given or to accept
something that has been given or sent to you. It can refer to various types of
things being received, such as physical objects, information, or experiences.
For example, you might receive a gift, a package, an email, or an invitation.
It can also be used in a more abstract sense, such as receiving feedback,
receiving an award, or receiving praise. In general, the verb "receive" implies
that something is being passed from one person or entity to another, with
the recipient taking possession or accepting it in some way. ]

31) The passive form of 'l know him'’

1
2
v 3
4

) He know to me

) He was known to me

) He is know to me

) I was known to him

N : | Know him' I850 passive PO structure T obj & sub + am/is/are +
verb 3 p.p + to ( know U G¥a ) + sub @ obj.

32) Which one is correct?

vl
2
3
4

One of my friend is a lawyer
One of my friend are a lawyer
One of my friends are a lawyer
One of my friend is a lawyer

S— N N N



A : One of - U3 #iK noun 1 pronoun - 9 plural form Q3% singular verb IO
| 37041 option BEK I S8 A5 T one of my friends is a lawyer.

33) Which sentence is correct?

1
2
3
v 4

) none of these

) He do not know how to swim

) He does know to swim

) He does not know to swim

AT : The structure for Present simple tense: Sub+(Verb-if the subject is third
person singular number then the verb adds e/es )+object.

So This sentence ( He does not know to swim) is grammatically correct .

34) Of the four books, the red one is the

1) more cheaper
v 2) chepest

3) cheap

4) cheaper

AT : After 'the’, the superlative form (cheapest) of an adjective is used.

35) The antonym of 'insipid' is

1
2
v 3
4

cold

dull
exciting
sanguine

N— N N N

A insipid. Antonyms: flavors, forcible, lively, piquant, pungent, racy, rich,
spicy, spirited. Synonyms: cold, dull, flat, flavorless, prosy, stale, stupid,
tasteless, vapid.

36) Singular form of 'data’' is?

1) dat

2) datas

3) none
v 4) datum



A : The singular form of data is called datum. Let's take an example. The
collection of marks obtained by all students in Grade 5 is a data set. Now, the
marks obtained by a particular student is called the datum.

37) There is ---- milk in the glass.

1) a big amout
2) much

3) small
v 4) a little

4 : 'Little' means 'hardly anything' It depicts almost negative meaning. ...
'Little' is considered as semi - negative because it gives almost negative
meaning. 'A little' depicts a small quantity. It means an individual considers it

a small but considerable quantity. Examples: | still have a little hope to
succeed.

38) Deciduous' trees are threes those -

1
2
3
v 4

have fleshy leaves

are extremely big

have delicious leaves
lose the leaves annually

N— N N N

AT : 'Deciduous trees’ (SR T DT Sfew) 2T F5 5Te. @R afoae [Reow
ST | (SRS @I 20T W IR | YDA 5P TG lose the leave annually |

39) The opposite word of 'Delete’ is
1) Injure
2) Delay
v 3) Insert
4) Trap

T - delete (Opposite to) - add, insert

40) G, TR H5IMHRP 2T 7T 2B PRA?

v 1) PRF CTY FREII I, TR
2) eI A2 G, MBI SR “Ifiam
)
)

3) PRY T FEGIR I, @IS M
4) IBRY CI O 2919, LTIARG VR dL D



AT = IPRF O ORI I SRAYT AMIBIA] A ¢ - Y FFAMR Sovy Fd Hsa1ie
o 7T (9 A | PR TIPS B TP (9P PR 30 16 |

41) > CTFURCE QT FRIGT ABEOP oo FIsT 2w @ o -

1) UNDP

v 2) UNESCO
3) UNEP
4) UNICEF

NN ; ARETT TSR Y@ T AT AT 89 T2 2 Y FER Yq A% UNESCO
D PFATRE ABHOP HOORT IS R APRo om1d I |

2000 AT 2> FTFAMR UNESCO - J Sbbr 5 5751 18 it S« Jcot A1feTo 23|
IGFT UNESCO a3 575% 18 Sov 5|

42) 1T TR 2T (Y BTe] PR -

AT : PRIICSH FRLK Ty G151 FHID AP S&b8 F IR T A6 PR | € TS
Y¢ @Y TR as1d TIRTRER fid 200 ©F IIG 27|

43) 1AM SR afsdTE?

A : IRATCCR 72 2R e 3 fawge (51 ) 29 oo 5o At 3aR6 e[
(95T | RO T} TP COT THAWR - 7 0T ARGITA(T ALACR SRR Tgoicet
5o Zaee |

44) TI5R ST ARSY (A6 Fofd afed faw afo xwz?

1) b
v2)yf
3) T



4)v

AT : SDGS-UT CFIM 059 (AP 1000 S | TS (16 A0 FTFFHTEar 3 >unib Jfame o757
TIOG AT, |

45) FIAIR ALTFTI! CTL AT FOIR SO S5 T [ s 247

1) b IR
2) ¢ IR
3) » IR
v 4)a3R

AT : AMRETRCTR IO ALTTIG! CT ZITHAT Q I FLSW S5 100 20CET | Yobvy, Yoo,
YDDY, R00Y, J00br, 2058, 05 I FIW T faAD® 2d | WK FRK[F © I 53 8 K ALTIIG!
facifvo Tcza |

46) a5 S T I AOR @F (AT 2ABTRG 'FIHA' @ ARIBTEAT \3 GBI PA?

AT 2 5D S IR @O ABTRG "5IFIA" I5aT \3 BTl PR QF WK WO
P 1 3¢ & YD TG HY FBETH YA T 2RI «ft IR AT @OIR 261RO | 97 TR
WROR P D0 Sorans "ty [Riow ez |

47) 5»Q> S TIRT AR SEAIRD' ARGTIAR T 7RI foeid?

AT = 5D A TIPT IAA AT 516 135~ ARBTEAN T HIRICY 2 - (SAEe 13
DI A

48) Y8 e [AIBTd TEPT POI0 AT 1S P ?



AT : SRS AT Vo 1 [ 2P AR A 204 B | W7 ML TEFPT TS IR
SR AV G

49) TP (AT TG’ HEATad ARBTNP 72

T = 7R (AP TG 5ADCA ARBTEND WA SRR GBI |

50) The Sprit of Islam' BVE E4F &2

AN : "The spirit of Islam" I3 T T AR DA | TR WM A (T - W3
WS, Sb-8% - QT : OIT JISTT, Sab) BT UF T TROR FHAICTH ARAGs R FAPTO]
IO AYF F3reTe RERS foaretd | azrons {5 faretq a1 o[ TR, ST
MRFRP QIR @4 | T 3vencar 3ozt facy s R 33 fercafered | o/ R [y
TAOH 27 "7 o5 O Bo7eTr” | A3 1303 RAGIICe 5T AR FeRl SR WA Foierd
TR 2RGd TR (120 SR @IS | (oM WK el e 36 Foiferd SAesik ofovTor
5% oreTd | Sfer o TR P f5fd TSRO THeTaae| IToRafod SIsRCR ST
&ed|

51) IR TIOR L3R IGHNA (HIG PO o0 facd s1fdo 2072

1) 08¢ Td
v 2)0¢o Gd
3) V¢e Td
4) 0oo Gdq

T+ AR SIORI S5 SRCHAT 0 oD Astd fe 513w |, 10w woofd S (WP FKIAR
(OIBR T 357 foxifow 237 | SRR ¢oft Tmsid AIRIeR Ty 5eIFo 30T, I 7T JTaness
HIREAT H5W TG @01 f[ARe 20 W |

52) >»90 SER YR a5 241d faifbd Sr[R e -
1) RIS oI 57137 Bt



2) ReM=1fS @ aq za
3) ERIfs « [ fovale
v 4) RERRS O ST

A : q FOGTRA, Y90 e TRPG ARSI 240F \3 O YR R Tifdo 201 @ fRive
YT fAT5d PP foretd RERIRs SRS 6K | Y90 SER SO #AREm MR o6 )7
ATRPBI v T 132 AP ARSI SOb b T =T | 9 JHT TSAT 5T o1 AN1BBICA
Swofl TS TEeie I TRFT AL TSR0 Ordd I |

53) BRICS 25 ¥ AN AT

1) Newly Development Bank
2) BRICS Development Bank
3) Developing Bank

v 4) New Development Bank

14 : The New Development Bank, formerly referred to as the BRICS
Development Bank, is a multilateral development bank established by the
BRICS states. According to the Agreement on the NDB, "the Bank shall
support public or private projects through loans, guarantees, equity
participation and other financial instruments."

54) ISR ST Jrad TRl GNISTO BT (AT et -

1) Mikhail Gorbachev
2) Nikita Khrushev

v 3) Nikolai Podgomy
4) Leonid Brezhnev

A : fAcPTeN3 ReFTRIRGE “rGs1id (18 PR [\ 9. 5 CPFPURI] 1903 - 12 SIGIA! 1983)
fSreTd UPTd GRS AR KT 1965 (AT 1977 ST *RIS INSTO 38 I IB2ATd,
Sra GIercos (ARSI GIRE 251 Aiig #1etd SEed |

)
)
)
)

55) #{fAJ1 710 BICER AT “NMAPT 5° T P A B AR ATUPT PO?

v 1) 8 a0
2) ¢ fafdb
3) 0 fifdt
4) > A0

AT : 24 TUT = 24 x 60 = 1440 A0
“{f AR ATt 257 360 i



WO , 1440+360 = 4
SJOd1R > TGTs AIRTER “NMUAPK S) TR “1UFT 4 A0 |

56) (P T 419 ©TaR 5Ty Wi <G @1 <Reto Amgiko 277?

1) eI

2) OIrIis

v 3) X \3 oG

4) pRPIG

1A = B0 GFRF M 419 SR FoR Q00 TFP X X7 \3 B19f R0 AoMB8iRo |

57) IV \3Gd RPIAR SKGE @XT?

AT ; APID IV @ AT I 7-71 AR @I P TRPE 2T BIP BIK \38d I | @Il I8
3T AMoPES TR 397 TIPS | (@ Fd WMo s IWT @R 5 BT 87 \38d @R | (P
WA @ - O3 F1d @R 281 I8 383 @R |

58) FERBOIER IR A1 FOGIVIRR G TFHOT APTCR AP (PTATD ?

v 1) 3030
2) DPI
3) fercaret
4) X

JTUTT ; 13T 2 O AR B0 Q5 | 2670 a1 o [T 927 27 7L vt [Roce e
13T 7T | fAe7 orferer Gryd . @G [T =  A126,. Ho8 AT = > REARIRE,. Y08 RTRIRs =
S (F5TRITEE,. S038 (FSTRIRD = S fSISTRIRE,. Y038 f5I5TRIRE = > (GRIRG | 130 A0 Abeid SRV

P B8 ST JRTD, YWY A GA 3 HICH |

59) © 0 AT 5T v AL P O 6 AR (AT 8 T HAK TG br T 5igd 5N QL T
PO?

w N =
L ¢ A g

AN
N

)
)
)
)



TN 1 0 5 SRR G, (F + 4+ 5M)/0 = b

WRE, © O FUT5R @16 8 T 5K 51T, (F+ U+ 57+ 9)/8=b
q, T =03 - O =8

ORI, B0 SR UMD QLR 1 = q

60) Q0 FIK RPFIVCH YT 2900 AL [OAT P AT | A0 PPFIT SR 6 Frw1d
SRR RoasT oA (o Frs1dl 5124y 3972

v 1) Vo
2) ae
3) a0
4)be

AT 1 P XOP =900

T, PR = HOO

SPO]IR, @ =00
ST, (G PR 43T = wo T

61) QO GRIBT 7D 761 SRYF W | AT 91 7R BRI 8 AT 12T Q92 1T T 7R O
TATACh #{o 2 | 97 710 AP e e A1fey GIRTBT PO A XJ?

Y

AN
2Ll
A ® G

AT ;Y Fe1 A1 8 AT 9/ 20 > e

YT 7 7T S AT 7 2 /8 WX

OOTA, a6 de1 T O s s/ d 2 > @

5T qe1 AT > FAfACT o[/ = 5/ e

7I0 de1 Y e, > Tl [T (5/8 + 9/5R) TR = (0 + 5)/5% WM = 8/53 = 50 W
QA J Y T, 500 T o 2 > AT

S (I 5795 917 © AT o1 Tk v BfAD |

62) T (O T €% I T TR (O IR <TOPAT 0 PHIE (O IRM I (@ AT 12

1) S
v 2)0
3) R
4) 5



2¢% JETS (SETF W =TT H2¢ BIF H2¢ GIF
REXD
AT ; W—oiﬁkeww—omboo"""%fﬁm
= 20 BIF

63) I x+y = 59, Xy = Yo I, T X-y I T FG?

=

AT (X - Y)2 = (X 4 y)2 - 4 xy (X + Yy, 93 xy 93 §d T ANEZ B3 193 537 )
T, (x-y)? =172 -4.60
T, (x - y)? = 289 - 240
T, (x - y)2 = 49
A, (x-y)=V 49
1

64) Q< IR qaiﬂmmmmﬁmb IR WL ST 20T, OIK TR IR R [T
2 AR PO QR>T?

NN ; TA I, TR IR AR = B GIPT

ST AP DY K W = F 01T

ORI, SYFIEH CHIG O = (F + B) = 3 D1
STOATR G131 AR AT HR AR S/ TLH

65) @Td FCT 20% FPFIT 3@ Q3L brow KAFTAT IR “PT IR | 758 Youw Tow Rivew coe
IERCZ | IM ST KA voo T REFIAT *IPT I (WF TR P FA FoGd PrFdl R Mecz?

AT 2 RATSCO (P FRCZ V0% IR " " 0% T IHSCO @ PR = (V0 - 50)% =
30% DY IIRETR " " = (X0 - 50)% = Y0% B R 91 IRCZ = 500% - (0% + Y0% + Y0%)



=Y0%
ﬁ‘%‘@f:()oo X000)/Yo=¢00 Gd

66) QD ISP ISMER CFAPS 03¢ IR | 93 FIRMEE @O Oy | AOR 0l 3972

AT : AT SN, 5 CHFAPA = a2

a2 = 2025

=>a = v/(2025)

= > a = 45 FoR|

-, TSR = 4a

= 4x45 =180 .. @UK (HIG (7 = 180 TOH |

67)a-1/a = 3 a2 + 1/a2 93 9 I9?

YT : T S,
a2+1/a?=(a-1/a)?2+2.1/a
=3242

=11

68) VD AR STZAR 3T YW 51T | ACS G \3 BT TAGHATS 03 | TS PO ST AT T
TS 88 AA?

w N =
© & I O

A Y
I

)
)
)
)

CTAIS®TST = 83 S ST STSY (W1 8 I 8" " °
T : (8 x 8) = S & . W G Mt =@
(3 - 32) = 8 g



69) QBT ARTGIPR CHA S \3 2ACE WIS 03 | BTR AT 200 TR T AROPR
CFafdd Crawe 30?2

AT = AT, bF = 00
IM,T =3¢
STORTR, CFAPE = ACXRE = dbae IsTACH

70) (0.1x1.1x0.1)/(0.01x0.02) W3 §Iq 3?2

M4 : (0.1x1.1x0.1)/(0.01x0.02)=0.011/0.0002

71) M (x-y)2 = 53 AL Xy = > WOH x2+y?2 = IT9?

YT - (V3T AR,
(X-y)? =53 QAL XY = O
AT S

X2 +y? =(x-y)y?+2xy
=12+2.1

=12+2

=14

72) 73 TFRETE @1 SR WP FiHJ QK 2, AF 70 BT KT FIE @ AW 231 17 O
TG HLATK BT TP L FF | SR FO?

1) 8Y
2) V¢
v 3)38



4) ca

I+ SR = 28

QEBI=8-=x

BT RT3 20 = 83

83 W< faTd 27 = 8

8t (AT Y RATST FAET W = 8 - Y = 83

73) @1d V3T FEW Prea-RIBFPIe™ T4y /0 WX Fi2eT, ST FAFI0E 2 Td ARRTRG W3
V/¢ T RRATRG | P FER Fres-RIvarR 5141 367

1A : 4}, @0 Prws - TR A =3
e PrFa = 33/

O, Y PrFP = (F - 33/0) = F/0 T
RIS 2 Pr$a = $/0 U7 0/¢ = OF/HE
PPITCT, S + 0T/ = F/O

AT, /O - OT/DE = O

AT, T =20

SRR, (D FPs - RIPF IR 5140 = o T |

74) MG BATS R TP PIAID?
IR,®,5¢,&,R0,b7,k¢,59,30,:0,5)

AT 1 TG BATESCENP FIA SRPCH SRS 23T I |
@, b, ®, 9, 53, (3¢), 99, 20, 3V, 0, 3¢

S 4

07 TP,

(n +)>)ROF ™

= (O + )R TF 7|

= Y OF oW

=S¢



75) QBTb GIARIRAR SAIE S¢00 T 8o fitar Ur Few @z | Yo fd #[ 55 tifae Ty
TSI BT (5167 | 1P AT TRIPTE IR @IET Wo fid 5T | Foad (HIde Wy SIS 5
foicafzer?

AT : >V A 17 AP T SIS 5T (570 | MM 7 T200T S DI WK 29 fid 5e70 |
VR,

24 fid 5T Seoo TR

MGG NG CRG

Vo fid BCET (5¢00*3a)/00

= YV¢0 Gad

B (AP S SIS B (517 (SO0 - SOE0) = Y0 T
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